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Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have

to select the correct choice.

- Frafafas § 4 == 9 9o uide 5 27

(A) V2 ® 0 © 4 (D) ¥125
Which of the following is not a rational number ?
(A) 2 (B 0 c 2 (D) 3125
=oF 1+ %x-?ﬁ x 1 Ul ‘%
@ ® 7 © -7 o
In the expression x* + -;Ex—?, the coefficient of x is :

1 ™
@ S ® 7 <y -~ £
Tp+— =38, Wp— — TR E :

pt . P 5 =HET
&) 6 S4B () 55 &) .2
Ifp+ % =3, the value of p— % is:
(A) 6 (B 3. © 5 (D) 2
125x° — 8y’ &1 TS PHEYE ¥ :
(A) 5x+2y (B) 5x—2y
(C) 2527 +4y7° (D)  25¢"—4y’ —40xy
One of the factors of 125x° — 8y’ is :
(A) 5x+2y _AB)  5x—2y
(C) 25°+4 (D) 25 -4y —40xy
T GEHIY HeE Sg4s ABCD # (797 3f@w) £DBC=35"%1 LABDHI A & :
A D | -
35"
B C

(A) 35° (B) 70° € 45° (D) 55°
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In the right Eapezium ABCD (see figure) #DBC=35°. Measure of ZABD is -

A
B C
(A) 35° (B)  70° (O a5 (D) 55°
6 TR LABD=70°, LDAC= /DCA =30°8), 3 - 1
i .
70° ..
B g
(A) AB=AC (B) AB=AD
(C) AB<AC (D) AB>AD

In the given figure, ZABD=7(F, ZDAC=2/DCA =30° then :
A

70° 3
B &
c (A) AB=AC 'S (B AB=AD
. (© AB<AC (D) AB>AD
7. THg(6,5) Fom wgufn & fem & ap 3 1
(A) I (B IV () 1m D) 1
Point (6, 5) lies in the quadrant :
(A 1 (B) IV (© m D 1
8. fHgsit(0,0), (0, 2),(2,2) SR (2, 0)® e W, ©F - 1
(a) o® s -!
(© wEEgw (D) i g e
By joining the points (0, 0), (0, 2), (2, 2) and (2, 0) we geta : I T e
(A)  square (B)  rectangle
© rhombus (D) parallelogram
g @ug-a/ SECTION-B
WY HEAT 96 14 § e % 2 of §
Question numbers 9 to 14 carry two marks each.
9, mﬁm%mﬁmﬁmsnﬂswmmaﬂﬁm 2
Using identity evaluate 105 x 103,
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10.

11.

12

i

TUEE HifT [— —33;]3 + (3y - JEz)a + [Jﬁz - %}3

3 : 3
X = 3
Factorise : {—;- -—ay] + {Sy — +f 32} + [ Bz — g—J

w5 4 e (2.4 g:]2

2
Expand using identity [% + 2 - g}
ﬁaﬁﬁi‘q%mmﬁﬂﬁﬁ?ﬁﬁaﬁﬁﬁw -fag g &)

Prove that every line segment has one and only one mid-point,

&% ¥ Ifjm, ,EFB= 2x+30° 8 LFGD=x+70°¥| ®ro1 LEFB it ZEFA W
Hife |

" \_\2r+30"
T+ 70°
I« e

& =
H

In the given figure, ljjm. ZEFB=2¢+30° and £FGD=x+70°, Find the angles
ZEFB and ZEFA.

E\\2x+3{]“
F B

x+70°

mf,& c I::.:
H

3YET/ OR
AABC # AB=AC % zsmgc%wﬁmmomﬁaﬁﬁw 14

SA=40° T, A ZBOC %1 719 Fia Fifom |
A

£
40
O

&

B C
In AABC, AB=AC. Bisectors of /B and ZC meet at O. If ZA=40° find the
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measure of SBOC.
A

A
40°
O
| B
14. ﬁwﬂmmﬁﬁqmwwssmﬁmﬁtmm%] 2

Find the Area of the triangle with sides 35 cm, 54 cm and 61 cm.

e EUE-H/ SECTION-C
‘ YT HEAT 15 W 24 § 0w % 358w ¥
Question numbers 15 to 24 carry three marks each.,

o (5 3”3

5 1
3 -7 2x
Find the value of x : {-E.J S [EJ i [EJ
4 51 4
RYAT/OR

}' ﬂ.izﬁﬁrﬁ%wﬁmaﬁﬁqmpﬁnqwﬂm%wwuﬁl
q

Express 0.123 in the form of E, where p and q are integers and q = 0.
q
16. WWW(EJE+J§}(@+SJ§}@TW%WWWW 3
fafag
Find the product of (EJE + Jﬁ)(ﬁﬁ + 3-»4'"5) and write the rational and
irrational parts of the product.

17 fag *ifeg fis o' 4 zf+2z‘*-5ryz=={x+y+z;[{x—yf+(y—z}2+{z-xf] 3

Prove that 2¢*+ 24+ 22~ 6xy2 = (x-+ y + )[(x— g7+ =2 +(z =27
a19aT/ OR

’Fé@ﬁﬁfﬂqﬁ?x’wxﬂsaﬂaﬂs‘ = T &

Prove that 2+ 6x + 15 has no zero.

18. irfizzy3+9yz—y—azmgvﬁ'aug'2§+3%,fﬁawmﬂﬁml 3

Find the value of a if 2y+3 is a factor of 24 +9y —y—a.
19.  few e fawr & ABjcp ¥ %, y AR z T Fifew 3
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20. ﬁﬂﬁﬁBf}CD%aﬂ?ADﬂq@hﬁgﬂ%l Tufs fos

h

31T/ OR
f%ﬁﬁmnmmm, B OER1 fimw OF, OF #! fywlia fewn & 21 zwfzw
% LAOF= /BOE %)
A

o B

F

In the figure, Ray OE bisects £AO
£ZAOF = ~BOF.
A

B, OF is the ray opposite to OE. Show that

F

()  AAOB=ADOC
(i) BCHAAfazO Y
C D

A B

In the figure, AB||CD. O is the mid-point of AD. Show that
()  AAOB=z=ADOC
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24

ii O is mid- pmnf: of BC

-

ﬁaﬁag=mmmm=4am%| g =ifse ' AD=CB &1 3
D " C

A "" B
In the gwe;-l figure, AB=DC and AﬁED £CDB. Prove that AD=CB

Lol

o Fifew 5 vz wvam e § %of o= & g 3 3
Prove that in a right angled triangle hypotenuse is the longest side.

few e o § APQR % S QR ¥t S 7% W@rn T ¥ GMRT L PREI 3
AfC LP: £Q: ZR=3:2:1%, T LTRS T FIfC |

P
/v
R S

In the given figure in APQR, QR is extended to S, RT L PR.
If £P: AQ #R=3:2:1find ~TRS.

AV

ﬁﬁ%mqﬁmmmsikmﬁm@mm 12:5 @, @ e &1 dwa ol 3
ol B Woed & we1g Fd BT
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29,

Perimeter of a triangle is 450 m and its sides are in the ratio 13 : 12 : 5. Find the
area of the triangle and smallest altitude.

@UE-T/ SECTION-D
I T 25§ 34wl & 4 ww -
(Juestion numbers 25 to 34 carry four marks each.

ﬁéx=2-ﬁ@,ﬁx4+%mﬂaﬁﬁm 4
X

Ex=2—3 find x* + -]E

x i
HIET/ OR

. e 2 22 -3
WW'EE-«J@+5J§+T5+ 47
2 227 —- 3

3
52-B 5B+B @

e % 4 fafew 47, Y11, 450 4
Arrange in ascending order 37, 411, 50

Simplify :

ACa’+b’+ =3abc #@Ra+b+c=0 7, A fag Fifw fs 4
{b+c£ E {c+a}2 2 {a+b}2 -
3bc  3ac 3ab
If2’+b’+c’=3abc and a + b+c=0, prove that
{b+c}2 {c+a]2 {a+h}2'
S 2 + =1
3be 3ac 3ab

1

k¥ 50 71 & fa 957 £ - 37— dx +k, (x+2) & s 2 s o4 959 & 4
IFEE Hiferd |

Find the value of k so that the polynomial x* - 3x*—dx+Xk is divisible by (x+2).

Hence factorise the polynomial.

ﬂfﬁx2+—1—=?,x>G€T,?ﬁ13+-l~3ﬂTx—1$[:qH$ﬂﬁﬁﬁﬂ{i 4
X% P it
If,::2 + A =7,x>0; find the value of x° + —1— and x — 1
x2 % X

fagall A(-5, 2), B0, —3) C(1, 3) 3R D(~6, 0) F s IR W s7eifiEn Hifse aik 4
e g oy aqafer a1 a1 e fe ¥, fofia) % wamam firemt w0 s s =

T TR ? S

Plot the points A(—5, 2), B(0, —3) C(1, 3) and D(—6, 0) in the Graph and write

the axis or quadrant in which they lie. Name the figure you get by joining the

points in the order.
AABC 1 YSIsTl BC, CASR BA %I %9¥: D, Q iR P oo wern 71 &1 af fos & 4

£ACD=100" 3R £QAP=35"B, & frse % st F1v1 77 i
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106°

e

B & D
Sides BC, CA and BA of a AABC are produced to D, Qand P respectively. In the

given figure if ZACD=100° and QAP = 35% find all angle of the triangle.

Q

100°
B & D
o & =gt ABCD ¥ A 3R /D 3 Tfvwss w9w: A0 SRDO ¥ fag Fifm
F%zaon=%(45+4c;%i
D 2

e
ol

A B
In figure AO and DO are the bisectors of /A and £D respectively of the

quadrilateral ABCD. Prove that L/AOD = %{z_’ﬁ +£0).
D c

A B
31U/ OR

1 % AB= AC, ~DAB= /EAC | fog Fifve fF AD=AE %)
DB e, B

: A
I/fn figure AB=AC, ZDAB=/EAC. Prove that AD= AE.
DB ¢ E

5 A -
33, mﬁmﬁaﬁwmaﬂ%ﬂﬁwﬁ%%ammmm Ll
) w %amﬁt . a; b éf]‘ if o] by ety .
Prove that two trian gles are -:_c;ngm:?.nt if any two angles and the included side of
one triangle are equal to corresponding angles and the included side of the other.

34. Tog =it fis s wwfgeg e = sideis st miftas of 2
Prove that in an isosceles triangle altitude is also the median.
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